





INTRODUCTION

DTS is the trading and investing platform that empowers you to grow your knowledge and wealth as part of a global community.

We all want our money to work harder. Some of us are beginners, some more experienced, but we all wish that we could do better. vision of a world where everyone can trade and invest in a simple and transparent way. We believe there is power in shared knowledge. So we've created an investment community built around social collaboration and investor education. Our platform is designed to provide you with the tools you need to grow your knowledge and wealth.

We can become more successful by investing together.

OUR VALUES



To make trading accessible to anyone, anywhere, and reduce dependency on traditional financial institutions.



To open the global markets, connect you to leading investors and give you the tools you need to grow your knowledge and wealth.

OUR SERVICES



WEEKLY PROFITS

DOUBLE DHAMAKKA

REFER AND EARN

GOALS AND OBJECTIVES



Start Small – Focus on consistency before scaling up.



Stay Disciplined – Follow your plan even during losses.



Keep Learning –
Markets evolve; adapt
your
strategies.
Celebrate Milestones –
Small wins keep
motivation high.

TYPES OF INCOME





ROI INCOME



LEVEL INCOME



SPOT INCOME

AWARDS & REWARDS

JOINING PACKAGE

INVEST POINTS

WEEKLY BENEFITS

NO OF WEEKS

TOTAL BENEFITS

100000

5 %

40 WEEKS

200000 PTS

200000

5 %

40 WEEKS

400000 PTS

300000

5%

40 WEEKS

600000 PTS

400000

5 %

40 WEEKS

800000 PTS

500000

5 %

40 WEEKS

1000000 PTS

LEVEL INCOME ONE LAK POINTS

LEVEL	PTS	NO OF WEEKS	TOTAL BENEFITS	LEVEL ELIGIBLE
	500	20 WEEKS	10000	3 LAKS
	300	20 WEEKS	6000	6 LAKS
	200	20 WEEKS	4000	15 LAKS
IV	100	20 WEEKS	2000	
V	100	20 WEEKS	2000	
VI	100	20 WEEKS	2000	
VII	50	20 WEEKS	1000	
VIII	50	20 WEEKS	1000	
IX	50	20 WEEKS	1000	
X	50	20 WEEKS	1000	

